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Section A

Answer all the questions in this section.

Write your answer for each question in the box provided.

When a society does not use money to exchange goods and services it is called

a barter economy

B a market economy
C equilibrium
D specialisation in production

Your answer

Which of the following is an example of a market in operation?

A country experiences inflation

B Consumers buy services from producers
C The government taxes producers
D Workers pay taxes out of their wages

Your answer

Which of the following would shift the supply curve for a good to the right?

Afall in the firm’s costs of production

B A positive change in consumer tastes
C A successful advertising campaign
D Atax on the good

Your answer
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A chemist earns £40000 a year. She has £100000 in a bank account and the bank pays interest
at 3% per year. Her gross income per year is

£3000
B £40000
C £43000
D £140000
Your answer [1]

Demand is defined as

A the desire to purchase a good or service over time
B the relationship between the quantity of a good or service sold and consumer incomes
C the relationship between the total revenue a firm receives and the price

D the willingness and ability to purchase a good or service

Your answer [1]
2018
Fixed cost £12000
Variable cost £20 per unit
Output 300 units

The table shows some cost and output data for 2018 for a firm producing gloves. In 2019, variable
costs increased by 15% but fixed costs and output did not change. Calculate the firm’s total costs
in 2019.

A £6900

B £18000

C £18900

D £20700

Your answer [1]
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A business which operates in the secondary sector

grows agricultural products

B manufactures goods

C mines for commodities such as copper ore

D produces services

Your answer 1]

Which of the following is the most likely effect of an increase in advertising on the market for
breakfast cereals?

The market demand curve shifts to the left

B The market demand curve shifts to the right

C The market supply curve shifts to the left

D The market supply curve shifts to the right

Your answer [1]

Traditionally, the main function of a building society is to

help the government to fund any shortage in tax receipts

B insure properties against damage
C provide funds for individuals to purchase a house
D provide funds for industry to invest

Your answer D [1]

© OCR 2020



10

Percentage share
Sector .

of national output
Primary 10
Secondary 40
Tertiary 50

The table shows the share of national output for each sector of an economy in a year. Which
conclusion can be made from the data?

A

B
C
D

Your answer

The economy is smaller than most other economies
The secondary sector is four times larger than the primary sector
The tertiary sector is the fastest growing sector

The total value of national output is £100

11 Which of the following is most likely to increase the wage rate of teachers in the UK?

O O W

Your answer

A fall in the number of children of school age
A shortage of qualified teachers
An increase in the number of qualified teachers coming to the UK from abroad

An increase in the number of young people training to teach

12 A market system allocates scarce resources through

O O W

Your answer

© OCR 2020

government taxes and subsidies
prices and incentives
the allocation of state benefit payments

the control of wages
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If there is an increase in demand, how will this affect the equilibrium price and quantity when a
supply curve is unitary price elastic?

The equilibrium price and equilibrium quantity will both increase

B The equilibrium price will increase but equilibrium quantity will not change

C The equilibrium quantity will increase but equilibrium price will not change

D There will be no change because the market is already in equilibrium

Your answer 1]

Which of these workers produces output in the primary sector?
A farmer
B Anurse
C A waiterin a restaurant
D A worker on a building site
Your answer [1]

Price (£) Quarz:)ig' :’Zr::)nded Qua(rr\)t;t"y ;:epk;;lied
5 600 150
10 500 300
15 400 400
20 300 350

The table provides information about the market for a good. The current price is £10. Which of the
following statements is correct?

Only a government price control can bring about equilibrium

B The current price is above the market equilibrium price
C There is excess demand of 200 units per week
D There is excess supply of 200 units per week

Your answer [1]

© OCR 2020
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16 Afirm’s labour productivity will have increased when

17

18
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the level of output and the labour force both decrease by 50%

B the level of output and the labour force both increase by 100%

C the level of output increases by 100% as the labour force increases by 80%

D the level of output increases by 100% as the labour force increases by 120%

Your answer [1]

Which of the following is true for all factor markets?

Demand is derived

B Final goods and services are bought and sold

C Households are the buyers

D Prices are determined by the government

Your answer [1]

A flower seller increases her prices by 10% and finds that it has no effect on the amount that she
sells. This suggests that demand for the flowers is

O O W

perfectly price elastic
perfectly price inelastic
price inelastic

unitary price elastic

Your answer D [1]
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Wage rate Quantity of
Year (£ per week) workers
1 440 4000
2 400 5000

The table shows the wage rate and employment level for two years in a particular industry. What
would explain the change from Year 1 to Year 2?

A Adecrease in the demand for labour

A decrease in the supply of labour

B
C Anincrease in the demand for labour
D

An increase in the supply of labour

Your answer

20 Which of the following is an incorrect statement about consumers?

Goods and services are bought for personal use

O O W

Your answer

© OCR 2020

They decide what goods and services will be produced

They have little power in the market

They compare the satisfaction of consumption against the price when making a purchase

[1]
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Section B
Answer all the questions in this section.

21

Cressida and Ulrika have started a travel business, Plumwith Holidays. They have decided to
specialise in art, music and cultural holidays. Cressida wants to arrange a cultural holiday to Italy.
Ulrika is not sure what the equilibrium price and quantity will be, due to competition. However,
Cressida says that she is sure that demand for this holiday would be price elastic, so any movement
along the demand curve would benefit them.

To help them make a decision, Cressida has produced forecast costs and revenues for the Italian
cultural holiday.

Number of Total Total
holidays sold cost (£) revenue (£)
2 10000 24000
4 18000 46000
6 24000 60000
8 28000 68000
10 40000 70000

Ulrika reminds Cressida that while the business exists to provide the service of holidays, they need
to ensure that they are able to charge a high enough price to make a profit.

Extract 1: Plumwith Holidays

(a) State what is meant by ‘the equilibrium price and quantity’.

© OCR 2020 Turn over
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(b) Draw a diagram showing equilibrium price and quantity.

Price A

» .
Quantity

[2]

(c) Using a diagram, analyse the consequences of a movement along the demand curve for
Plumwith Holidays. [6]

© OCR 2020



(ii) Calculate the average cost to Plumwith Holidays of providing eight holidays. Show your
working.

ANSWET: ..o [2]
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Evaluate the importance of cost and revenue data for the owners of Plumwith Holidays.

Use the information given in Extract 1 on page 9 and your own knowledge.
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22

Arin and Fara own Muncaster United, a small football club. They are considering whether to spend
£1m on new players to try and win promotion and to increase the number of supporters, or to
increase the club’s savings for future use. The opportunity cost of increasing savings could be

a failure to win matches. The rate of interest available for any savings depends on how much is
saved.

12

10

4
2 I I I
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Rate of Interest (%)
»

Amount of Savings (£)

Arin and Fara know that the transfer market for players is very competitive. This means that they
need to be both more efficient in finding the right players and better at marketing the club to these

potential players. However, the market for attracting the good players that they want, is more like
an oligopoly.

Extract 2: Muncaster United

(a) State what is meant by ‘opportunity cost’.

© OCR 2020 Turn over
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(b) Explain how the rate of interest payable to Muncaster United varies with the amount of
savings.

(c) Analyse how an increase in the rate of interest could affect Arin and Fara’s decision whether
to invest in buying new players or to increase the club’s savings for future use.

© OCR 2020
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(d) (i) Explain whatis meant by ‘an oligopoly’.
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(iii)*
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Evaluate the economic impact of competition on Muncaster United.

Use the information given in Extract 2 on page 13 and your own knowledge.
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Calwith Farmers is a producer of eggs, laid by free range chickens (where chickens are kept
outdoors), which are sold in its own farm shop. The shop also sells produce from surrounding
farms. Calwith Farmers has relied on gaining economies of scale and making a good profit from a
high quantity of sales.

Twenty years ago, the owners of Calwith Farmers decided that keeping free range chickens was
more environmentally sustainable. This specialisation has resulted in considerable benefits, but
also some costs.

Alex, who is in charge of egg production, assumes that the supply of eggs is price elastic. He
knows that while this allows him greater flexibility in responding to changes in demand, it does
make him partly dependent on the other farms for the extra supply.

Alex keeps a careful record of the quantity of eggs supplied to the farm shop (by both Calwith
Farmers and the other farms) and the price he can charge.

Price of eggs Dozens of eggs
per dozen (£) supplied (per week)

1.60 20

1.80 30

2.00 45

2.20 60

2.40 85

2.60 115

Extract 3: The Supply of Eggs

(a) State what is meant by ‘economies of scale’.

© OCR 2020 Turn over
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(b) Explain one benefit to a firm of choosing to be environmentally sustainable.

© OCR 2020
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(d) (i) Explain whatis meant by ‘the supply of eggs is price elastic’.

(ii) Using the information in Extract 3 on page 17, draw a supply curve showing the supply
of eggs to the farm shop.

3

Price (£)

0 25 50 75 100 120

Quantity (dozens per week)

[2]

(iii)* Evaluate the importance of price elasticity of supply for the consumers of Calwith
Farmers’ products.

Use the information given in Extract 3 on page 17 and your own knowledge. [6]
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).

© OCR 2020



© OCR 2020



© OCR 2020



24

PLEASE DO NOT WRITE ON THIS PAGE

OCR

Oxford Cambridge and RSA
Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders
whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright
Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible
opportunity.

For queries or further information please contact The OCR Copyright Team, The Triangle Building, Shaftesbury Road, Cambridge CB2 8EA.
OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a
department of the University of Cambridge.

© OCR 2020



